(1) Find the pH of 0.17 M methylamine.

On page A-14, we find a BASE ionization constant for methlyamine. It's therefore a
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Set up equilibrium chart ...
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> (2) Find the pH of 0.11 M hypochlorous acid

Page A-13 lists an acid ionization constant for hypochlorous acid. It's a WEAK ACID.
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* (3) Find the pH of 0.030 M sodium hydroxide.
Sodium hydroxide is a Group |A hydroxide ... a common STRONG BASE

Since the STRONG base COMPLETELY ionizes, the hydroxide concentration will simply
equal the sodium hydroxide concentration...
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* (4) An 0.15 M solution of monoprotic acid has a pH of 2.80 at 25 C. Find the Ka of the acid
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Write an equiilibrium chart fo reduce the number of variables ...
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We can use the pH to find hydronium ion concentration, which is equal fo X" (see the
equilibrium chart above!)
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